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Procedure META Efficiencies

Expected:
> matching particle PID (9, 14) (leading particle)
> matching missing mass (leading particle)
> metacluster >= 2 (leading particle)
> cut on AP ypc = PexpecTep — Pcanpmpc
Measured:

> cut on AP yera = PexpecTep — Pcanpmera (1D, 2D)
Single Track Efficiency (only kine!!!)
Expected:

> isPrimary

> isInAcceptance (4,4,4,4,0,0) or islnAcceptanceDecay (4,4,4,4,0,0)
Measured:

> isPrimary

» islnAcceptance (4,4,4,4,1,1) or isinAcceptanceDecay (4,4,4,4,1,1)
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Missing Mass, leading: Proton, Pion
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Missing Mass Log, leading: Proton, Pion
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Missing Mass After
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M2, leading: Proton, Pion
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A® Proton MDC, leading: Pion
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A® Proton META 1D, 2D, leading: Pion

Counts
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1D Efficiencies Proton
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A® Pion MDC, leading: Proton
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A® Pion META 1D, 2D, leading: Proton

Counts
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1D Efficiencies Pion
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cand_size_before_proton

cand_size_after_proton
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cand_size_after_vs_theta_proton

—]Entries 3279077
— 1684

cand_size_before_vs_theta_proton

Entries 4.2974116+07

34.81]

5213
0876

12,

cand_size_after_vs_theta_pion

Enies 1.0066456-07

cand_size_before_vs_theta_pion

E —_—__———
= N NN rwrwwn swws FERTE FETTE SRR T R
T B 3 4 5 6 7 B 9 10

el b b
6 7 8 9 10

13//17



PID Exp

PID Sim
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theta_proton_vs_theta_pion

Theta Proton
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Coverage for MDC!
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Coverage for MDC!
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